05/11/15
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Midterm Exam Answer Sheet
1. “Nowadays, service is synonymous with servitude.” Do you agree with this statement? Why? Why not? (2 Points)
No, I don’t agree with this statement. In fact, nowadays, service cannot be described as to include solely low-wage or low-skill jobs as in department stores and fast food restaurants. The subsequent growth in the service sector has caused a shift to white-collar occupations. The most interesting growth occurred in the managerial and professional / technical fields, which necessitates jobs that require a university education.

2. List any 2 management challenges associated with Network Usage. (2 Points)
Management challenges associated with network usage are as follows:

· Availability

· Pricing decisions

3. Briefly explain how “Reducing Perceived Risk” enhances “Differentiation” strategy? (2 Points)
Lack of information about the purchase of a service creates a sense of risk-taking for many customers. When customers lack knowledge or self-confidence about services such as auto repair, they will seek out providers who take the extra time to explain the work to be done, present clean and organized facility, and guarantee their work. Therefore, such companies would then be perceived by customers as providing a service unique then others.
4. Using one example, briefly explain how people’s reaction to technology generates paradoxes? (2 Points)
When people are faced with technology, the following 8 technology-related paradoxes occur:

· Control / chaos

· Freedom / enslavement

· New / obsolete

· Competence / incompetence →Technology can facilitate feelings of intelligence and efficacy or leads to feelings of ignorance and ineptitude.
· Efficiency / Inefficiency

· Fulfils / creates needs

· Assimilation / isolation

· Engaging / disengaging
5. Briefly explain how Employee retention and productivity drive Service value? (2 Points)
Well trained, motivated and satisfied internal customers (i.e. employees) will have longer seniorities within a company (retention) and will be more productive. This, in turn, would lead to the fact that those very employees would serve better their customers. Hence, those very customers will perceive service provided by the firm as of value.
6. Briefly explain how “Unconditional Service Guarantee” shall be easy to invoke? (2 Points)

Unconditional service guarantee should not hassle customers with filling out forms or writing letters to invoke a guarantee. Rather, the procedure shall be simple and convenient.

Good Luck
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